
 
  1       2       3       4       5       6       
[ ] 
  1   If S should do S  
  2   a decision to

 
  3   request that should  

 
  4   luggage pieces of luggage

 
  5   the of the two

 
  6   the way SV S V

 
 

 
  7       8       9       10       11       12      
[ ] 
  7   spoil  
  8   at no extra charge

tax price fare  
  9   a good six hours  
  10   tough  
  11   room for   
  12   taste  
 

 
  13       14       15       16       17       18      
[ ] 
  13   for the time being  
  14   at will  
  15   at home in  
  16   hold on  hang up  
  17   make much of  
  18   rule out  
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  19       20       21       22       23      
[ ] 
  19   there was a transition to agriculture

however  reject
 promote  possess

 conduct  
  20   gather what they need

 for free 3 1 The Hadza people are 
not part of the modern economic system of Tanzania.

 in vain  by nature  on duty  
  21   It that

that although the Hadza have very little, they share 
a lot

 contradiction
 addiction  discrimination  reputation  

  22   Their homeland is now only 25 percent of the size it was in the 
1950s. Hunting is now more difficult for them as there are fewer animals than before.

1950 25
 serious serious 

consequences  ideal
 little  migrant  

  23   4
 disappear

 develop  arise  expand
 

 
 

  24       25       26       27       28        
[ ] 
  24   1 That’s more than the annual airline and maritime shipping 
combined. That

12
 textile production is responsible for a great deal of 

carbon dioxide emissions.
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  25   2 2 … to actually create a benefit to the environment by 
eliminating carbon dioxide from the atmosphere

 remove carbon dioxide 
from the air in order to benefit the environment

 
  26   2 3 … a perceived lack of clarity coming from many fashion 
companies about how sustainable their products are.

 suspicious about the level of sustainability claimed 
by many fashion companies

 
  27   3 Also, algae need light and carbon dioxide to survive,…

 light 
and carbon dioxide are required for algae to stay alive

 
  28   4 1 Another advancement leather substitutes

 give an example of one of the efforts to develop 
environmentally friendly products

 
 

 
  29       30       31       32       33        
[ ] 
  29   May 1

 
  30   May 4

without strings 
attached  
  31   Danny 4 May 5

 
  32   Danny

May  
  33   Danny May  
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  34       35      
  36       37      
  38       39      
[ ] 

 
  34   (Jessica always looks) confident no matter what situation she is (in.) 
 no matter what [ ]  
  35   (What) was it that made my brother so mad) at me? 
 What made my brother so mad at me? 
  
  36   (The population of Egypt) is about half the size of that (of Brazil.) 
 that ( the population)  
  37   (When I first came to Japan, I) noticed two things that were very different from 
 (the UK.) 
  
  38   (Just in case, don’t) wait until the last minute to book (the flight.) 
 wait until the last minute 1   
 book  
  39   (It is reported) that two burglars robbed the bank of over three million dollars 
 (last night.) 
 rob A of B A B  
 

 
  40         41      
  42         43      
  44         45      
[ ] 
  40   used plants not only to not only A but also B A B

to  
  41   include some things that come from that

 
  42   eight out of every ten 10 8 B
A A out of every B  
  43   and help the body fight disease help O do O



0120-192-215
https://www.mebio-eishinkan.com/

本解答速報の内容に関するお問合せは

https://www.mebio.co.jp/
0120-146-156

03-3370-0410 https://yms.ne.jp/

メルマガ登録 LINE 登録

メルマガ登録または LINE 友だち追加で全科目を閲覧

医大別直前講習会

※内容は変更になる場合がございます。最新の情報はホームページよりご確認ください。 ◆各講座の時間割・受講料・会場についてはHPでご確認ください。

対　象 高3生・高卒生対象 料　金 6,600円（税別）

聖マリアンナ医科大学[後期]模試

昭和大学医学部[Ⅱ期]模試

科　目 2月20日（木）20:00申込締切

会　場  

2.20

2.23
科　目

英／数／化／生／物

英／数／化／生／物

東京／大阪／福岡

東京／大阪／福岡
2月17日（月）20:00申込締切

会　場  

（木）

（日）

後期・Ⅱ期
■ 獨協医科大学
■ 聖マリアンナ医科大学
■ 日本大学
■ 埼玉医科大学
■ 昭和大学
■ 日本医科大学

受付中
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  44   sad or having trouble sleeping feel sad

or having feeling have trouble doing
 

  45   are that at least part of Chances are that ... …

at least  
 
 

 

80%  
A 3

A
 

 
 


